BIOLOGY

BOOKS - CHETANA BIOLOGY (MARATHI
ENGLISH)

LOCOMOTION AND THEIR
MOVEMENTS



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. Explain the different types of muscular

tissues.

o Watch Video Solution

2. Name the type of muscles which bring

about running and speaking?

o Watch Video Solution



https://dl.doubtnut.com/l/_EswtU8wQLjod
https://dl.doubtnut.com/l/_b64Mon5YeWyM

3. Name the muscles which do not contract as

per our will.

o Watch Video Solution

4. Which types of muscles show rhythmic

contractions?

o Watch Video Solution



https://dl.doubtnut.com/l/_UbDmm4dADLyI
https://dl.doubtnut.com/l/_FurYxqlV1b9L

5. Which type of muscle is the diaphragm of

the respiratory system?

o Watch Video Solution

6. Name the part of human skeleton situated

along the vertical axis.

o Watch Video Solution

7. State the types of movements.



https://dl.doubtnut.com/l/_r6v6i6wU2xkd
https://dl.doubtnut.com/l/_5d0GE4M9lNg0
https://dl.doubtnut.com/l/_wY4U95mKIXDv

o Watch Video Solution

8. What are the different types of muscles?

o Watch Video Solution

9. Why are movement and locomotion

necessary among animals kingdom?

o Watch Video Solution



https://dl.doubtnut.com/l/_wY4U95mKIXDv
https://dl.doubtnut.com/l/_8fwUWpQbrrNs
https://dl.doubtnut.com/l/_bkg9sa6CF1wQ

10. State the property of muscle used
effectively in muscular movement? How is

muscle fatigue caused?

o Watch Video Solution

11. Define the following:

Locomotion

o Watch Video Solution



https://dl.doubtnut.com/l/_B7tn0A4NWfAz
https://dl.doubtnut.com/l/_gHZ0f9q445MF

12. Define the following:

Tendons

o Watch Video Solution

13. Define the following:

Movements and locomotion

o Watch Video Solution



https://dl.doubtnut.com/l/_pZn9v2tHHATq
https://dl.doubtnut.com/l/_L4dO3167BLON

14. State the oxygen carrying pigment present

in the skeletal muscle.

o Watch Video Solution

15. Explain the different types of locomotory

movements.

o Watch Video Solution

16. Why do we shiver during winter?



https://dl.doubtnut.com/l/_sc0FwNNcFZpk
https://dl.doubtnut.com/l/_age3uPfoBV8H
https://dl.doubtnut.com/l/_TsD9yMvV9ZqB

o Watch Video Solution

17. Why do muscles show spasm after
rigourous contraction? OR
Muscles show spasm after rigorous

contraction. Give reason.

o Watch Video Solution

18. Did you ever feel tickling in muscles?

o Watch Video Solution



https://dl.doubtnut.com/l/_TsD9yMvV9ZqB
https://dl.doubtnut.com/l/_Iku2aVkYmUBf
https://dl.doubtnut.com/l/_v40LumsOyTAu

19. How are striated muscles classified?

o Watch Video Solution

20. What describe the location and structure

of skeletal muscle.

o Watch Video Solution



https://dl.doubtnut.com/l/_v40LumsOyTAu
https://dl.doubtnut.com/l/_j26PtKfbXtvF
https://dl.doubtnut.com/l/_8LeibruF0r9P

21. Raju intends to train biceps, while
exercising using dumbbells, which joints
should remain stationary and which should

move?

° Watch Video Solution

22. Differentiate between

Flexor and Extensor muscles :

o Watch Video Solution



https://dl.doubtnut.com/l/_m2rEydTNl0yp
https://dl.doubtnut.com/l/_zzCl56nO2JoB
https://dl.doubtnut.com/l/_zMBtf0llioj8

23. Differentiate between

Pronator and Supinator :

o Watch Video Solution

24. What are antagonistic muscles? Explain

with examples.

o Watch Video Solution



https://dl.doubtnut.com/l/_zMBtf0llioj8
https://dl.doubtnut.com/l/_FMNd8jCmA2G8

25. Why a red muscle can work for prolonged
period whereas white muscle fiber suffers

from fatigue after a shorter work?

o Watch Video Solution

26. How is the structure of sarcomere suitable
for the contractility of the muscle? Explain its

function according to sliding filament theory?

o Watch Video Solution



https://dl.doubtnut.com/l/_Ehtq9mpU6Oxq
https://dl.doubtnut.com/l/_KEmngwpqQ7MY
https://dl.doubtnut.com/l/_mGhh6cxX371H

27. Write short note on Actin Filament.

o Watch Video Solution

28. State the energy which is converted to

mechanical energy during contraction.

° Watch Video Solution

29. State the role of calcium ions in

contraction and relaxation of muscles.

| & I


https://dl.doubtnut.com/l/_mGhh6cxX371H
https://dl.doubtnut.com/l/_P4dksROB9YSS
https://dl.doubtnut.com/l/_fFKavISRr16x

| ¥ Watch Video Solution |

30. Why is muscle fiber a syncitium? How are

myofilaments arranged in it?

o Watch Video Solution

31. State the two important parts of

meromyosin.

o Watch Video Solution



https://dl.doubtnut.com/l/_fFKavISRr16x
https://dl.doubtnut.com/l/_VYSnfWIYIlIo
https://dl.doubtnut.com/l/_F0rViyy3nOg8
https://dl.doubtnut.com/l/_5ngeKIUjyoJ8

32. What is believed to initiate the contraction

process?

° Watch Video Solution

33. What is the role of ATP in muscle

contraction?

o Watch Video Solution

34. What kind of contraction occurs in your

neck muscles while you are reading your class


https://dl.doubtnut.com/l/_5ngeKIUjyoJ8
https://dl.doubtnut.com/l/_ogoFtFrh4CfZ
https://dl.doubtnut.com/l/_wyU9G1NX92uw

assignment?

o Watch Video Solution

35. Collect information about 'T' Tubules of

sarcoplasmic reticulum.

° Watch Video Solution

36. Describe the physiology of muscle

relaxation.

o Watch Video Solution



https://dl.doubtnut.com/l/_wyU9G1NX92uw
https://dl.doubtnut.com/l/_y1WC1VkgPWmm
https://dl.doubtnut.com/l/_Db5O9d3q4WOE

37. Why are muscles rich in creatine
Phosphate? OR
How does creatine phosphate function in the

muscle cell?

° Watch Video Solution

38. What do you understand by muscle twitch?

° Watch Video Solution



https://dl.doubtnut.com/l/_Db5O9d3q4WOE
https://dl.doubtnut.com/l/_4SOkHGigE0eG
https://dl.doubtnut.com/l/_9qJKrImoDq9B
https://dl.doubtnut.com/l/_tWP68rZAvBP5

39. What are the causes of muscle twitch?

° Watch Video Solution

40. State the significance of Oxygen debt.

° Watch Video Solution

41. Explain briefly Rigor Mortis.

° Watch Video Solution



https://dl.doubtnut.com/l/_tWP68rZAvBP5
https://dl.doubtnut.com/l/_SqiKxfAo9HVi
https://dl.doubtnut.com/l/_hawdQV0DRgVj
https://dl.doubtnut.com/l/_jiyVrQtFazyh

42. Explain briefly Rigor Mortis.

° Watch Video Solution

43. Write short note on Role of calcium ion in

contraction and relaxation of muscles.

o Watch Video Solution

44, Define:

Single muscle twitch

| e |


https://dl.doubtnut.com/l/_jiyVrQtFazyh
https://dl.doubtnut.com/l/_JCXmOuPddbQ5
https://dl.doubtnut.com/l/_HhiMND9bsAUE

& Watch Video Solution

45, Define:

Summation:

° Watch Video Solution

46. Define:

Tetanus:

° Watch Video Solution



https://dl.doubtnut.com/l/_HhiMND9bsAUE
https://dl.doubtnut.com/l/_fWWflJGBNI4c
https://dl.doubtnut.com/l/_cWrIh1sWkNFO
https://dl.doubtnut.com/l/_t8oCjrgGm0uY

47. Define:

Refractory period:

o Watch Video Solution

48. Define:

Threshold stimulus:

° Watch Video Solution

49. What do you understand by muscle twitch?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_t8oCjrgGm0uY
https://dl.doubtnut.com/l/_KSBbtbwvYdP4
https://dl.doubtnut.com/l/_yo7V3rAig1Ws

50. State the stages for the occurrence of

single muscle twitch

o Watch Video Solution

51. Explain all or none principle / Bowditch's

law.

° Watch Video Solution



https://dl.doubtnut.com/l/_yo7V3rAig1Ws
https://dl.doubtnut.com/l/_z91SnmZPVsnk
https://dl.doubtnut.com/l/_dBOMm276Gx5S

52. State the significance of Oxygen debt.

o Watch Video Solution

53. Can you compare bone, muscle and joint
which help in locomotion with any of simple

machines you have studied earlier?

o Watch Video Solution



https://dl.doubtnut.com/l/_CKuIZUU0jNeQ
https://dl.doubtnut.com/l/_DZVrKDq816EY

54. What are the components of our skeletal

system?

o Watch Video Solution

55. What type of bones are present in our

body?

o Watch Video Solution



https://dl.doubtnut.com/l/_Y4RxOegaoEQb
https://dl.doubtnut.com/l/_myLSyL3F94Vf

56. What are the components of our skeletal

system?

o Watch Video Solution

57. What type of bones are present in our

body?

o Watch Video Solution

58. How do bones help us in various ways?



https://dl.doubtnut.com/l/_W1ewP7QXamKu
https://dl.doubtnut.com/l/_edNxI1OLwuIN
https://dl.doubtnut.com/l/_j461wZ3072xq

o Watch Video Solution

59. Write a short note on Hyoid bone.

o Watch Video Solution

60. Enlist the bones of Cranium.

o Watch Video Solution



https://dl.doubtnut.com/l/_j461wZ3072xq
https://dl.doubtnut.com/l/_1gyqJEjwIwWz
https://dl.doubtnut.com/l/_E9xp9Wi2YYuK

61. If police suspect strangulation, they
carefully inspect hyoid bone and cartilage of
larynx.  These  get  fractured  during
strangulation. Various such investigations are
done in case of suspicious death of an
individual where ossification of sutures in
skull, width of pelvic girdle, etc. are examined
to find out approximate age of victim or
gender of victim, etc. You may find out

information about forensic science.

o Watch Video Solution



https://dl.doubtnut.com/l/_t53xbrpXeOOR

62. Find out information about sinuses
present in skull, functions of skull and disorder

'sinusitis'.

o Watch Video Solution

63. Feel your spine (vertebral Column) is it

straight or curved?

° Watch Video Solution



https://dl.doubtnut.com/l/_J841m2ItgUUH
https://dl.doubtnut.com/l/_7qKIzH41uPV2

64. You will study about intervertebral discs in
this chapter. Find information about slipped

disc.

o Watch Video Solution

65. Enlist the functions of vertebral column?

o Watch Video Solution

66. Describe a typical lumbar vertebra.



https://dl.doubtnut.com/l/_3RK6qTjN3G7J
https://dl.doubtnut.com/l/_Rb764UkSCtNp
https://dl.doubtnut.com/l/_oyOwSzrVRKS2

o Watch Video Solution

67. Explain the structure of axis vertebra.

o Watch Video Solution

68. Why are long bones slightly bent and not

straight?

o Watch Video Solution



https://dl.doubtnut.com/l/_oyOwSzrVRKS2
https://dl.doubtnut.com/l/_QKqVf6IJ2P3s
https://dl.doubtnut.com/l/_77m0JAfNN3Gr

69. If your elbow joint would be fixed type of
joint and joint between teeth and gum would

be freely moveable.

o Watch Video Solution

70. What are joints? What are their types?

o Watch Video Solution

71. Define joint.



https://dl.doubtnut.com/l/_lyZ2MnIpQ4qH
https://dl.doubtnut.com/l/_Z51uftXRYiyn
https://dl.doubtnut.com/l/_svezv5ZbGck0

o Watch Video Solution

72.What is arthrology?

o Watch Video Solution

73. How are the bones in our body joined to

each other?

o Watch Video Solution



https://dl.doubtnut.com/l/_svezv5ZbGck0
https://dl.doubtnut.com/l/_r9anJtMZ550G
https://dl.doubtnut.com/l/_v9gBPhWVQMSI

74.What is the significance of joints?

o Watch Video Solution

75. Which suture is present between parietal

bones and occipital bone?

o Watch Video Solution

76. Give two examples of cartilaginous joint.

o Watch Video Solution



https://dl.doubtnut.com/l/_IiZbhymj5PDD
https://dl.doubtnut.com/l/_2MCqv60IgDvy
https://dl.doubtnut.com/l/_T5SR49iAYasF

77. Distinguish between Fibrous joints and

Cartilaginous joints.

o Watch Video Solution

78. What is Diarthroses (synovial joints)

o Watch Video Solution

79. Enumerate types of synovial joint.



https://dl.doubtnut.com/l/_T5SR49iAYasF
https://dl.doubtnut.com/l/_tb1FNB4VZjKo
https://dl.doubtnut.com/l/_X26F3FbtIOfB
https://dl.doubtnut.com/l/_Y4TJKKLS2C2d

o Watch Video Solution

80. Draw labeled diagram for Synovial joint.

o Watch Video Solution

81. Differentiate between Fibrous,

Cartilaginous and Synovial joints.

o Watch Video Solution



https://dl.doubtnut.com/l/_Y4TJKKLS2C2d
https://dl.doubtnut.com/l/_BRoeQnvRVclw
https://dl.doubtnut.com/l/_5tGugIGzogqQ

82. Classify various type of joints found in
human body. Present the information in the

form of chart. Give examples of each type.

o Watch Video Solution

83. Human beings can hold an object in a

better manner than monkeys. Why?

° Watch Video Solution



https://dl.doubtnut.com/l/_QGF09mwnXo3g
https://dl.doubtnut.com/l/_oebBJgWsUKX9

84. What makes the synovial joint freely

moveable?

° Watch Video Solution

85. Now a days we hear from many elderly
people that they are undergoing knee
replacement surgery. Find out why one has to
undergo knee replacement, how it is carried

out and how it can be prevented.

° Watch Video Solution



https://dl.doubtnut.com/l/_Q2EOnw9yMpvL
https://dl.doubtnut.com/l/_jFnDI7nkU2Fu

86. You must have heard of Sachin Tendulakr
suffering from 'Tennis Elbow' a cricketer
suffering from a disorder named after another
game. Can common people too suffer from

this disorder?

o Watch Video Solution

87. What is muscular dystrophy? OR

Write a short note on muscular dystrophy?

o Watch Video Solution



https://dl.doubtnut.com/l/_jFnDI7nkU2Fu
https://dl.doubtnut.com/l/_fTbV99uqUtoV
https://dl.doubtnut.com/l/_LLm7hYi1xWhH

88. Write a note on Myasthenia gravis. OR
What are the causes, symptoms of myasthenia

gravis?

o Watch Video Solution

89. Describe Osteoporosis.

o Watch Video Solution



https://dl.doubtnut.com/l/_LLm7hYi1xWhH
https://dl.doubtnut.com/l/_pk0V3keC1h97
https://dl.doubtnut.com/l/_hBsUuWwKpQXt

90. Name any two disorders of skeletal system.

o Watch Video Solution

91. What is Arthritis? What are its types?

o Watch Video Solution

92. Name the disorder caused due to

accumulation of uric acid in joints.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZQJVomHbl4ok
https://dl.doubtnut.com/l/_lqPRyH5AKxqI
https://dl.doubtnut.com/l/_21Pqd1boEXBP

93. Describe Tetany.

o Watch Video Solution

94. Find out information about types of

fractures and how they heal.

o Watch Video Solution



https://dl.doubtnut.com/l/_21Pqd1boEXBP
https://dl.doubtnut.com/l/_R3Xz3r0cg4Ps
https://dl.doubtnut.com/l/_g9JEiPRNcl7C

95.In a road accident, Moses fractured his leg.
One of the passer by, tied a wooden plank to
the fractured leg while Moses was rushed to

the hospital was this essential? Why?

o Watch Video Solution

96. Ragini, a 50 year old office goer, suffered
hair line cracks in her right & left foot in short
intervals of time. She was worried about

mirror jerks leading to hair line cracks in


https://dl.doubtnut.com/l/_7AlO5hqpG2OO
https://dl.doubtnut.com/l/_Z94VBGOCjKLj

bones. Doctor explained to her why it must be
happening and prescribed medicines.

What must be cause of Ragini's problem? Why
has it occured? What precaustions she should
have taken earlier? Why care she should take

in future?

° Watch Video Solution

97. Differentiate between:

Actin Filament and Myosin Filament:

° Watch Video Solution



https://dl.doubtnut.com/l/_Z94VBGOCjKLj
https://dl.doubtnut.com/l/_KQIA5L3zEfHu

98. Differentiate between:

I-Band and A-Band:

° Watch Video Solution

99. Differentiate between:

Skeletal Muscle and Cardiac Muscle:

o Watch Video Solution



https://dl.doubtnut.com/l/_KQIA5L3zEfHu
https://dl.doubtnut.com/l/_tfhqOCTJ9Ve3
https://dl.doubtnut.com/l/_mb2KvFwTUfKA

100. Differentiate between:

Red Muscle Fibres and White Muscle Fibre

o Watch Video Solution

101. Functions of Ribs:

o Watch Video Solution

102. Name the contractile proteins present in

the muscle.



https://dl.doubtnut.com/l/_ILmvFg1Z3fcN
https://dl.doubtnut.com/l/_PmA1gblcbP97
https://dl.doubtnut.com/l/_jIkXcTlnn3Ct

o Watch Video Solution

103. What is sarcomere?

o Watch Video Solution

104. Why all locomotion are movement but all

movements are not locomotion?

o Watch Video Solution



https://dl.doubtnut.com/l/_jIkXcTlnn3Ct
https://dl.doubtnut.com/l/_F3d7LgzHfpsL
https://dl.doubtnut.com/l/_rKj1VrtzEp3i

105. Differentiate between locomotion and

Movement.

o Watch Video Solution

Exercise

1. The structural and functional unit of striated

muscle fibres is............. i

A. cross bridges


https://dl.doubtnut.com/l/_Pz4GD4Tc4L3s
https://dl.doubtnut.com/l/_xLfI6IivcnlV

B. myofibril

C.sarcomere

D. z-bond

Answer:

o Watch Video Solution

2. A person slips from the staircase and breaks

his ankle bone. Which bones are involved?

A. Carpals


https://dl.doubtnut.com/l/_xLfI6IivcnlV
https://dl.doubtnut.com/l/_bTt6BbloHhYW

B. Tarsal

C. Metacarpals

D. Metatarsals

Answer:

o Watch Video Solution

3. Muscle fatigue is due to accumulation of

A. pyruvic acid


https://dl.doubtnut.com/l/_bTt6BbloHhYW
https://dl.doubtnut.com/l/_eZ1NYdYHDcA0

B. lactic acid

C. malic acid

D. succinic acid

Answer:

o Watch Video Solution

4. Swelling of sprained foot is reduced by
soaking in hot water containing a large

amount of common salt,


https://dl.doubtnut.com/l/_eZ1NYdYHDcA0
https://dl.doubtnut.com/l/_DScJlIYANApi

A. due to osmosis

B. due to plasmolysis

C. due to electrolysis

D. due to photolysis

Answer:

° Watch Video Solution

5. Role of calcium in muscle contraction is ..........


https://dl.doubtnut.com/l/_DScJlIYANApi
https://dl.doubtnut.com/l/_EZnyzsO5PdxM

A. to break the cross bridges as a cofactor

in the hydrolysis of ATP

B.to bind with troponin, changing its

shape so that the actin filamen is

exposed

C.to transmit the action potential across

the neuromuscular junction.

D.to re-establish the polarisation of the

plasma membrane following an action

potential


https://dl.doubtnut.com/l/_EZnyzsO5PdxM

Answer:

o Watch Video Solution

6. Hyper-secretion of parathormone can cause

which of the following disorders?

A. Gout

B. Rheumatoidarthritis

C. Osteoporosis

D. Gull's disease


https://dl.doubtnut.com/l/_EZnyzsO5PdxM
https://dl.doubtnut.com/l/_x2v1FLPr3H5b

Answer:

o Watch Video Solution

7. Locomotion in sperms takes place with the

help of ... :

A. flagella

B. cilia

C. pseudopodia

D. muscles


https://dl.doubtnut.com/l/_x2v1FLPr3H5b
https://dl.doubtnut.com/l/_gb4Uwfu2RVzQ

Answer:

o Watch Video Solution

8.Bones act as........... during locomotion.

A. levers

B. fulcrum

C. pulleys

D. points

Answer:


https://dl.doubtnut.com/l/_gb4Uwfu2RVzQ
https://dl.doubtnut.com/l/_MnyZNra8wH6X

° Watch Video Solution

9. Sutures on the skull are........... joints.

A. freely movable

B. slightly movable

C. diarthrosis

D. synostosis

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_MnyZNra8wH6X
https://dl.doubtnut.com/l/_0ieOHQTAhiEw

10. Intervertebral disc consists of .......

A. fibrous connective tissue

B. fibrous cartilage

C. calcified cartilage

D. bone

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0ieOHQTAhiEw
https://dl.doubtnut.com/l/_TwX0EcOxBqUS

11. Slightly movable joints are also known as

A. synarthrosis

B. amphiarthrosis

C. diarthrosis

D. synostosis

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ORj3tb0gDz2g
https://dl.doubtnut.com/l/_GDZwyoYbzWyC

12. Synovial fluid is present in ... :

A. freely movable joint

B. fixed joint

C. slightly movable joint

D. cartilagenous joint

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_GDZwyoYbzWyC

13. Two articulating bones are connected by ......

A. tendon

B. cartilage

C. ligament

D. fibres

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_27jnIwsHoATH
https://dl.doubtnut.com/l/_oImQdD9ZP536

14. Elbow joints are ........... joint.

A. slightly movable

B. immovable

C. freely movable

D. movable

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_oImQdD9ZP536

15. Human body consists of about ......different

types of muscles.

A. 650

B. 460

C. 540

D. 400

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_AKgFylmW2Cd6
https://dl.doubtnut.com/l/_V4mSfbjzd4KD

16. Muscles attach to the bones with the help

of ...

A. ligament

B. cartilage

C.tendon

D. cord

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_V4mSfbjzd4KD

17. Actin binding sites are located on ... :

A. troponin

B. tropomyosin

C. meromyosin

D. both (b) and ( C)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_pf0bh6sgvI5p

18. Coccygeal bone is formed by the fusion

of....... bones in man.

A. ilium, ischium and pubis

B. scapula and clavicle

C. ilium and scapula

D. ilium, scapula and ischium

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_irBhASDlQu3k
https://dl.doubtnut.com/l/_JBLCVwnIMiS3

19. Chemical ions responsible for muscle

contraction are

A Ca’T and K+
B.Nat and K
C.Na™t and Ca®*

D.Ca?®" and Mg**

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_JBLCVwnIMiS3

20. The joint of radio-ulna with the upper arm

IS e i

A. hinge joint

B. pivot joint

C. socket joint

D. none of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5ECckVEYJQMW
https://dl.doubtnut.com/l/_DaMIhXDbqwUb

21. Which of the following option
showscorrect order of some states of muscle
contraction from the beginning to the end of
the process?

A. Stimuli —» Neurotransmitter secretion
—» Release of Ca?"t —» Cross bridges
formation — » Excitation of T-system —»
Sliding of actin filaments

B. Stimuli —» Neurotransmitter secretion

-» Excitation of T-system — » Release of


https://dl.doubtnut.com/l/_DaMIhXDbqwUb

Ca*t » Cross bridges formation -»
Sliding of actin flaments — » 'H' band
diminishes

C.Stimuli — » Excitation of T-system —»
Neurotransmitter secretion —» Cross
bridges formation — » Sliding of actin
filaments —» 'H' band diminishes

D. Stimuli —» Neurotransmitter secretion

—» Cross bridge formation —»


https://dl.doubtnut.com/l/_DaMIhXDbqwUb

Excitation of T-system -» Sliding of actin

filaments

Answer:

o Watch Video Solution

22. Read the statements regarding muscle
proteins.

(DActin is a thin filament and is made up of
two F-actins.

() The complex protein, tropomysoin is


https://dl.doubtnut.com/l/_DaMIhXDbqwUb
https://dl.doubtnut.com/l/_03pHIBHpOT18

distributed at regular intervals of troponin.

(1) Myosin is a thick filament which is also a
polymerized protein.

(IV) The globular head of meeromyosin
consists of light meromyosin (LMM).

Which of the above statements are correct?

Al Il and llI
B.I, Il and IV
C.land lll
D. Il and IV

Answer:


https://dl.doubtnut.com/l/_03pHIBHpOT18

° Watch Video Solution

23. The number of occipital condyles in man

is/are.......... i

A.one

B. two

C. three

D. four

Answer:



https://dl.doubtnut.com/l/_03pHIBHpOT18
https://dl.doubtnut.com/l/_0TSo93YDZSLD

24. The joint found in head of upper arm and

pectoral girdle is a ....... :

A. hinge joint

B. ball and socket joint

C. gliding joint

D. saddle joint

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0TSo93YDZSLD
https://dl.doubtnut.com/l/_dIb3mGZwllNn

25.Elbow joint is an example of ........ :

A. pivot joint

B. hinge joint

C. gliding joint

D. ball and socket joint

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_dIb3mGZwllNn
https://dl.doubtnut.com/l/_nUA2HVBd82Ta
https://dl.doubtnut.com/l/_A4K1NbzVIC7f

26. During the muscle contraction, which zone

decreases?

A. l-zone

B.Z-zone

C. H-zone

D. Both -Aand C

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_A4K1NbzVIC7f

27.The longest bone of the human body is ...

A. humerus

B. tibia

C. veterbra

D. femur

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_kLtZtl5VX5yY
https://dl.doubtnut.com/l/_ZOon3YSsvg8u

28. The polysaccharide portion a proteoglycan

present in the matrix of cartilage is known as

A. ossein

B. cartilin

C. casein

D. chondroitin

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ZOon3YSsvg8u

29. Find out the correct order of number of
bones in the parts of skull such as cranial
bone, facial bone, hyoid bone and middle ear
bone respectively

A.14,8,1and 3

B.3,814 and 1

C.14,83 and 1

D.8,14,1and 3

Answer:

‘ ° Wiak hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_vgPhLF74XLOM
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30. Consider the following statements.

() In man, vertebral column has 33 bones
organized as 28 bones.

(I)Pelvic girdles is made up of two fused bones
only.

(Ill) Osteoporosis is characterized by micro-

architectural deterioration of the bone

A. (l) is correct

B. () is correct


https://dl.doubtnut.com/l/_vgPhLF74XLOM
https://dl.doubtnut.com/l/_s7J7kNf6vmb2

C. (lll) is correct

D. () is incorrect

Answer: C

o Watch Video Solution

31. Which of the following statements is/are
correct/ incorrect?

(I) A-bands of the muscle is dark and contain
myosin.

() I-bands are the light bands and contain


https://dl.doubtnut.com/l/_s7J7kNf6vmb2
https://dl.doubtnut.com/l/_MztdvDvZlOFQ

actin.

() during muscle contraction, the A-band
contracts.

(IV) The part between the two H-lines is called
as sarcomere.

(V) The central part of thin filament, not

overlapped by thick filament is called H-zone.

A. (I),(I1) and (lll) are correct, while (IV) and

(V) are incorrect.

B. (I),(IN,(IV) are correct, while (Ill), (V) are

incorrect.


https://dl.doubtnut.com/l/_MztdvDvZlOFQ

C. () and (ll) are correct, while (lll),(IV) and

(V) are incorrect.

D. (),(I),(Il1) and (V) are correct, while (IV) is

incorrect.

Answer:

o Watch Video Solution

32. Which of the following features

differentiate bone from cartilage?


https://dl.doubtnut.com/l/_MztdvDvZlOFQ
https://dl.doubtnut.com/l/_Czl0e84gIAxc

A. Haversian canal

B. Blood vessel

C. Lymph vessel

D. All of these

Answer:

o Watch Video Solution

33. Cancellous bone is one which has:

A. calcified cartilage


https://dl.doubtnut.com/l/_Czl0e84gIAxc
https://dl.doubtnut.com/l/_HQtVI3k3WMYc

B. spongy bone

C. compact bone

D. none of above

Answer:

o Watch Video Solution

34. How many bones are there in one half of

the lower jaw of human?

A. Three


https://dl.doubtnut.com/l/_HQtVI3k3WMYc
https://dl.doubtnut.com/l/_YOPV9iHMLVzq

B. Four

C.One

D. Eight

Answer:

o Watch Video Solution

35. Human backbone consists of:

A. 30 vertebrae

B. 31 vertebrae


https://dl.doubtnut.com/l/_YOPV9iHMLVzq
https://dl.doubtnut.com/l/_TZbchcWy9Enm

C. 32 vertebrae

D. 33 vertebrae

Answer: D

° Watch Video Solution

36. In mammals, the number of cervical (neck)

vertebrae is typically:

A5

B.7


https://dl.doubtnut.com/l/_TZbchcWy9Enm
https://dl.doubtnut.com/l/_SoYW53lP3J8l

C.9

D. 11

Answer:

° Watch Video Solution

37. Which of the following helps in nodding?

A. Atlas vertebra

B. Axis vertebra

C. Both the above


https://dl.doubtnut.com/l/_SoYW53lP3J8l
https://dl.doubtnut.com/l/_dXogIXm9HuHl

D. None of these

Answer:

o Watch Video Solution

38. The total number of ball and socket joints

in man's body is:

A. two

B. four

C. eight


https://dl.doubtnut.com/l/_dXogIXm9HuHl
https://dl.doubtnut.com/l/_KvoujkY64uBm

D. sixteen

Answer:

o Watch Video Solution

39. Head of humerus articulates in the:

A. ossified cavity

B. glenoid cavity

C. sigmoid cavity

D. acetabulum


https://dl.doubtnut.com/l/_KvoujkY64uBm
https://dl.doubtnut.com/l/_Jaxriiwf0CRf

Answer:

o Watch Video Solution

40. Acetabulum is associated with:

A. pelvic girdle

B. pectoral girdle

C.cranium

D. vertebral column

Answer:


https://dl.doubtnut.com/l/_Jaxriiwf0CRf
https://dl.doubtnut.com/l/_dWBqLUCs8gXo

° Watch Video Solution

41. Through which aperture the spinal cord

passes out of the skull

A. Foramen ovale

B. Foramen magnum

C. Formen of Panzee

D. Formen of Monro

Answer:



https://dl.doubtnut.com/l/_dWBqLUCs8gXo
https://dl.doubtnut.com/l/_mxicbYzJn3zO

42. The sagittal suture is positioned between

the ...

A. sphenoid and temporal bones

B. temporal and parietal bones

C. occipital and parietal bones

D. right and left parietal bones

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_mxicbYzJn3zO
https://dl.doubtnut.com/l/_uPngitNuLnR7

43. Intervertebral disc is a ............

A. fibrocartilage between the centrum of

vertebrae

B. pad in the centrum of bone

C. cartilage bone in the body

D. body of vertebrae

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_uPngitNuLnR7
https://dl.doubtnut.com/l/_lR4L5u8DM91m

44. Gout is a disease that affects the joints

and leads to arthritis. It is associated with an

abnormality of......... :

A. pyrimidine metabolism

B. purine metabolism

C. fat metabolism

D. protein metabolism

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_LkTS5p1iuOMF

45, Collar bone is also known as

A. scapula

B. coracoid

C. petella

D. clavicle

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_qV8gXf6L09A2

46. Coccygeal bone is formed by the fusion

of....... bones in man.

A. three vertebrae

B. six vertebrae

C. five vertebrae

D. four vertebrae

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_z9ZcXHw5W3fK
https://dl.doubtnut.com/l/_c11bHAB2xevX

47.\ertebral formula for human beings is

A. C3T12L7S5C3_5 =33 — 35

B. C; Ty L5 S5Cs 5 = 33 — 35

C. C5T10L5S503_5 — 33(.D)

D. C7T10L7S5C3_5 — 33

Answer:

° Watch Video Solution

48. The process of bone formation is called


https://dl.doubtnut.com/l/_c11bHAB2xevX
https://dl.doubtnut.com/l/_EsnGfYc0aPjv

A. ossification

B. calcification

C. magnification

D. none of these

Answer:

o Watch Video Solution

49. The cytoplasmic segment of striated

muscle fibre is termed....... i


https://dl.doubtnut.com/l/_EsnGfYc0aPjv
https://dl.doubtnut.com/l/_8z6WME3zCz1S

A. metamere

B. neuromere

C. sarcoplasm

D. sarcomere

Answer:

° Watch Video Solution

50. Term 'innominate' is related with ......... X

A. nerve


https://dl.doubtnut.com/l/_8z6WME3zCz1S
https://dl.doubtnut.com/l/_RIfgMBHixPZC

B. artery

C. skeleton and artery

D. none of these

Answer:

o Watch Video Solution

51. Cartilaginous joints ....... :

A. permit slight movements

B. are found in symphysis


https://dl.doubtnut.com/l/_RIfgMBHixPZC
https://dl.doubtnut.com/l/_j3fzXhk7idNu

C. are found in the bodies of vertebrae

D. All of the above

Answer:

o Watch Video Solution

52. Six of the 206 bones of human skeleton

occur in ........ i

A. skull

B. middle ear


https://dl.doubtnut.com/l/_j3fzXhk7idNu
https://dl.doubtnut.com/l/_PYHbs8qgS0qX

C. pectoral girdle

D. pelvic girdle

Answer:

° Watch Video Solution

53... pairs of ribs are floating ribs.

A7

B.2

C.5


https://dl.doubtnut.com/l/_PYHbs8qgS0qX
https://dl.doubtnut.com/l/_HIwLwtyC2SNG

D.3

Answer:

o Watch Video Solution

54.Sutures on the skull are........... joints.

A. Synovial

B. Freely moveable

C. Immoveable

D. slightly moveable


https://dl.doubtnut.com/l/_HIwLwtyC2SNG
https://dl.doubtnut.com/l/_OlAERG0UlmkZ

Answer:

o Watch Video Solution

55. During locomotion joints acts as ........ :

A. Levers

B. fulcrum

C. pulleys

D. Points

Answer:


https://dl.doubtnut.com/l/_OlAERG0UlmkZ
https://dl.doubtnut.com/l/_aZA4AqLqWJGi

° Watch Video Solution

56. Locomotion in sperms takes place with the

help of ... :

A. flagella

B. cilia

C. Muscles

D. Pseudopodia

Answer: A

| 8 l


https://dl.doubtnut.com/l/_aZA4AqLqWJGi
https://dl.doubtnut.com/l/_jUbXpWCU5OmC

57. State the number of bones and muscles in

human body.

° Watch Video Solution

58. Give the name of the funny bone.

° Watch Video Solution



https://dl.doubtnut.com/l/_jUbXpWCU5OmC
https://dl.doubtnut.com/l/_BYWmhZcMnMHu
https://dl.doubtnut.com/l/_fP4V31WkETLQ

59. Where is ball and socket joint present in

human body?

° Watch Video Solution

60. List the bones helping in hearing.

° Watch Video Solution

61. Write a note on osteoporosis.

° Watch Video Solution



https://dl.doubtnut.com/l/_2iFqvNd7e11H
https://dl.doubtnut.com/l/_Bh7CoTonqtdx
https://dl.doubtnut.com/l/_J7XB9AKpoPkp

62. How is the structure of sarcomere suitable
for the contractility of the muscle? Explain its

function according to sliding filament theory?

o Watch Video Solution



https://dl.doubtnut.com/l/_J7XB9AKpoPkp
https://dl.doubtnut.com/l/_ugg1L9jF6b0P

